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Across

4. @ natural number :?\‘ea’rer than 1 that cannot
be formed by multighying two smaller natural
numbers

Y, one answer

9% Two lines are Perpendicular when +he§j meet
at a riﬁhf ange (90,

16, Y=Mx+b

1% is the 3rea’res’r factor that divides two
numbers,

A & type of distribution that has two possible
outcomes

20, YYs=mx-x1)
24, & compound inequality

22, fin expression of more than two aljebvaic
terms

U, give You the eroduct of the original two
numbers,

25, the numbers written in front of the variable
with the larﬁes’r exponent,

Down
2 3olv’\n3 a (:roblem
3. the result of & binomial multiglied \wj itself,

5, are equations where the variable is within an
absolute value operator

6. The sum of all the exponents of the variables

% & point where the graph of a function or
relation intersects ’rhéa 3—a><’\s of the coordinate
sgs’r@m.

8 a way of wr'\ﬂnﬂ down very large or very smal
aumbers eas\hj.

40, & mathematical obiect is a standard way of
presenting that ob\‘)ec’r as a mathematical
exPree.Sxon.

. involving the second and no h\ﬁher power of
an unknown quanﬂ‘rg or variable,

12, & polynomial cons\sﬂnﬁ of three terms or
monomials,

13, & standard way of Presenﬂnﬁ that object as
a mathematical expression.

4. cons\&’r’\nﬁ of one term,

45, the highest of the deqrees of the Polsnom’xél'&
ronomiald with non-zero coetficients.

£, are ines in & plane which do not meet; that is,
two sh’a'\ﬂm lines in @ plane that do not intersect

23, & number that describes both the direction
and the steepness of the line.
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